SplashLearn

Part-Part-Whole Model

Complete the part-part-whole model.
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Mia has 3 orange marbles, 2 red marbles and 1 green marble. How many marbles does Mia
have in total? Write the equation and find the answer.
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Tom bought 4 apples, 3 oranges and 2 kiwis from the farmers market. How many fruits did
he buy in all? Write the equation and find the answer.
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Nina bought 5 chocolate pastries, 1 vanilla pastry and 2 fruit pastries from a bakery. How )
many pastries did she buy? Write the equation and find the answer.
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